Algebra 2
1.2 Graph Quadratic Functions in Vertex and Intercept Form
Starter(s): Find the vertex and the axis of symmetry for each quadratic function:
1.						2. 
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EXAMPLE 1: Graph a Quadratic in Vertex Form			EXAMPLE 2 Use a Quadratic Model in Vertex Form
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YOU TRY:
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EXAMPLE 3 Graph a Quadratic Function in Intercept Form	EXAMPLE 4 Use a Quadratic Function in Intercept Form
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YOU TRY:
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[image: http://jw081.k12.sd.us/images/20x20grid.gif][image: ] 	8. WHAT IF? In Example 4, what is the maximum height of the football if the football’s path can be modeled by the function y = – 0.025x(x – 50)?







EXAMPLE 5: Change from Intercept Form to Standard Form		EXAMPLE 6: Change from Vertex Form to Standard Form
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YOU TRY:
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4. WHAT IF? Suppose an architect designs a bridge

with cables that can be modeled by y = ?i)() (x —1400)* +27

where x and y are measured in feet. Compare this
function’s graph to the graph of the function in
Example 2.
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Graph y =2(x + 3) (x - 1).
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The path of a placekicked football |,
can be modeled by the function

y =-0.026x(x — 46) where x is the |
horizontal distance (in yards) and |*
y is the corresponding height
(in yards).

a. How far is the football kicked ?

b. What is the football’s maximum height ?
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Graph the function. Label the vertex, axis of symmetry,
and x - intercepts.

5. y=(x-3)(x-17)
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6. f(x)=2(x—4)(x+1)
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7. y=—(x+1)(x-5)
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Write f(x) =4 (x — 1)2 + 9 in standard form.
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Write y = -2 (x + 5) (x — 8) in standard form.
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Write the quadratic function in standard form.
9. =—-(x-2)(x-17)
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10. y=-4(x—1)(x+3)
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M. y= —3(x+5)2-1
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12.  g(x) = 6(x - 42— 10
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Graphy=—i (x+2)2+5.
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Civil Engineering

The Tacoma Narrows Bridge in |,
Washington has two towers
that each rise 307 feet above
the roadway and are

connhected by suspens ion 7 EVVAMMMMMMMMMMM%
cables as shown. Each cable I ]
can be modeled by the
function.
y= L (x—1400)2+27

7000

where x and y are measured in feet. What is the
distance d between the two towers ?
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Graph the function. Label the vertex and axis of
symmetry.

1L y=(x+272-3
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2. y=—(x+1)>+5
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3. f= %(x— 32 -4




